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28- dkaxzsl ikVhZ fdu dkj.kksa ls 1969 esa VwV dh f�kdkj gqbZ \
What was the reason for the bifurcation of congress party in 1969 ?

29- tuvkanksyu ls vki D;k le>rs gS \
What is meant by popular movements ?

30- ohVks&ikoj ls vki D;k le>rs gSa \
What do you understand by veto-power ?

Group - D

31- gfjrØkafr D;k Fkh \ blds nks ldkjkRed vkSj udkjkRed
igqqyvksa dks crkb,A
What was the Green Revolution? Mention any two positive and two
negative aspects of green Revolution?

32- i;kZoj.k ds laj{k.k ds fy, vki D;k lq>ko nsrs gS \
What steps do you suggest for the conservation of environment ?

33- ewyoklh ls D;k vfHkizk; gS \ bldh eq[; ek¡xs D;k gS \
What is meant by indigenous people ? What are their main demands?

34- Hkkjr&vesfjdk laca/kksa dk o.kZu djsaA
Explain Relation between India-America ?

35- fdu ckrksa ds dkj.k xksokZpkso lksfo;r la?k esa lq/kkj ds fy, ck/; gq,\
Why did Gorbachov feel concerned for reform in soviet system?
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Group - A

oSdfYid iz�uksa ds mrj ns%&

1- mÙkj vVykafVd laf/k laxBu¼ukVks½ dk xBu dc fd;k Fkk \
When was the North Atlantic Treaty Organization (NATO) formed?
a) 1955 b) 1949 c) 1945 d) 1950

2- lwpuk dk vf/kdkj dkuwu dc cuk Fkk \
When was the right to information act enacted?
a) 1955 b) 1949 c) 1945 d) 1950

3- vizSy 1949 esa fuEufyf[kr esa dkSu&lk lxaBu cuk;k x;k Fkk \
Which  of  the  following  organization  was  formed  in  April  1949?
a) Okjlk iSdV (Warsaw pact) b) ukVks (NATO)
c) lhVks (SEATO) d) btjkby (Israel)

4- n{ksl¼lkdZ½ ds xBu ds le; bldh lnL; la[;k D;k Fkh\
What was the number of  the members of SAARC at the time of its
formation?
a) 10 b) 12 c) 7 d) 8

5- 1962 esa Hkkjr dk fdl iM+kslh ns�k ds lkFk ;q) gqvk Fkk \
With which  neighboring  country India had fought a war in 1962 ?
a) ikfdLrku (Pakistan) b) phu (China)
c) Jhyadk (Sri Lanka) d) ckaXykns�k (Bangladesh)

6- orZeku esa dkSu vkfl;ku dk lnL; jk"Vª ugha gS \
Which of  the following is presently not a member  nation  of  ASEAN?
a) fQ+yhihal (Philippiness) b) vYthfj;k (Algeria)

c) baMksusf�k;k (Indonesia) d) eysf�k;k (Malaysia)
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7- :l esa lektoknh jkT; dh LFkkiuk fdlus dh \
Who established a socialist state in Russia ?

a) dkyZ ekDlZ (karl Mark) b) iqfru (Putin)

c) ysfuu (Lenin) d) LVkfyu (Stalin)

8- fo�o dks baVjusV dh lqfo/kk fdl ns�k dh nsu gS\
Facility of internet to the world is the gift of which country?

a) tkiku (Japan) b) phu (China)

c) vesfjdk (America) d) Hkkjr (India)

9- oSf�od rkiof̀) fdl lqj{kk dk ekeyk gS\
Global warming is the matter of which security?

a) Lkewfgd lqj{kk (Collective Security)

b) oSf�od lqj{kk (Global Security)

c) ekuo lqj{kk (Human Security)

d) buesa ls dksbZ ugha (None of these)

10- ijek.kq vizlkj.k laf/k ij fdl ns�k us gLrk{kj ugha fd;k gS\
Which country has not signed the non-proferation Treaty?

a) mÙkjh dksfj;k (North Korea) b) phu (China)

c) Hkkjr (India) d) bZjku (Iran)

Group - B

11- la;qDr jk"Vª ifj"kn~ D;k gS \
What is the security council of  UNO ?

12- iatkc le>kSrs ds eq[; izko/kku D;k Fks \
What  was the main provision of the Punjab accord ?

13- xBca/ku dk D;k vFkZ gS \
What is  meant by coalition ?

14- 9/11 dk D;k vFkZ gS \
What is meant by 9/11

15- gfjr Økafr ls fdlkuksa ij D;k izHkko iM+k \
What were the impacts of green revolution on farmers?
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16- usg: ds fons�k uhfr ds nks eq[; mís�; crk,¡ \
Mention any two major objectives of  Nehru�s foreign policy?

17- vktknh ds le; Hkkjr dks fdu nks pqukSfr;ksa dk lkeuk djuk iM+k\
What were the two challenges that india did face at the time of
independence ?

18- laiw.kZ Økafr ls vki D;k le>rs gSa \
What do you understand by total Revolution.

19- izFke [kkM+h ;q) ds pkj dkj.kksa ij fopkj djsaA
Write any four reasons of the first Gulf war?

20- opZLo dk D;k vFkZ gS \
What does hegemony mean ?

Group - C

21- Hkkjr vkSj phu lac/kks esa izx<+rk ds eq[; dkj.kksa dk o.kZu djsaA
Explain the main cause for the consolidation in the relationship
between India and China ?

22- lektoknh vFkZO;oLFkk vkSj iwathoknh vFkZO;oLFkk esa varj Li"V djasA
Differentiate between socialism and capitalism ?

23- vesfjdh opZLo dks pqukSfr fdl :i esa fey jgh gS \
How American hegemony is being challenged ?

24- lksfo;r foHkktu dk Hkkjr ij iM+s rhu izHkkoksa dk o.kZu djsaA
Describe any three impacts of disintegration of Soviet Union of india?

25- fdUgh pkj dkj.kksa dh O;k[;k djsa tks lqj{kk ifj"kn~ esa Hkkjr dh
LFkk;h lnL;rk dk nkok etcwr djrs gks \
Explain any four reasons which support the claim of india for the

permanent membership of security  council?

26- oS�ohdj.k esa izkS|ksfxdh dk D;k ;ksxnku gS \
What is the contribution of technology in Globalization ?

27- Hkkjr esa ukjh vkanksyu ds fodkl dk laf{kIr o.kZu djsaA
Give brief description of the development of women agitation in india?
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